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1. (A) Give the meaning of labour. Explain the significance of labour in India. 14

(B)
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(B)
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OR

Explain in detail characteristics of labour in India.

Answer in two-three lines : (Any Four) 4
(1)  What are the factors which gives rise to labour problems ?

(2) Give the meaning of rationalisation .

(3) What is meant by economic reforms ?

(4) What do you mean by labour economics ?

(5) State the causes of absenteeism.

Discuss in detail impact of technology & rationalisation on labour market. 14

OR

What are the recommendations of second National Commission on labour ?

Explain in detail.

Answer in two-three lines : (Any Four) 4
(1)  Give the meaning of labour market.

(2) What is globalisation ?

(3) What is the meaning of ‘Strike Ballot’ ?

(4) Give the meaning of mobility of labour.

(5) What is privatisation ?
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What do you mean by wage differential ? Discuss the factors responsible for wage
differential in India. 14

OR

Give a critical review of wage policy in India.

Answer in two-three lines : (Any three) 3
(1) Enumerate classical theory of wages.

(2) Give any two drawbacks of marginal productivity theory of wages.

(3) What is the meaning of wage fund ?

(4) Briefly explain the concept of minimum wage.

(5) What is meant by living wage ?

Give the meaning of collective bargaining. Also explain its nature. 14
OR

Explain in detail theories of collective bargaining.

Answer in two-three lines : (Any three) 3
(1) Define collective bargaining.

(2) What are the objectives of collective bargaining ?

(3) Briefly explain the concept of worker’s participation in management.

(4) State the models of WPM.

(5) Briefly explain the joint management councils.
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Instructions :  Figures given to the right side of question are full marks.

1. (A
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2. (A)
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What is monetary policy ? Explain India's current monetary policy. 14
OR

What is Poverty ? Check out the trends of poverty in India. Explain solutions to
prevent poverty.

Answer briefly the following questions : (Any Four) 4
(1) Explain the meaning of National Income.

(2)  Explain the Money Supply standards of RBI.

(3) What s foreign trade ?

(4) Give the meaning of the trade balance.

(5) Explain the one step to prevent of imbalance of payment.

(6) “Unemployment is responsible for migration” — Explain this statement.

‘Population is the limitation of economic development or useful resources’
explain in the context of India. 14

OR

Explain the theory of demographic transition in the context of India.

Answer briefly the following questions : (Any Four) 4
(1)  What is Sustainable Development ?

(2) What is the population projection ?

(3) Whatis a Crude Birth Rate ?

(4) Give the meaning of life tables.

(5) Explain the meaning of relative and absolute Poverty.

(6) Explain the impact of the population on the environment.
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OR

What is the environment? Review Environmental Laws in India.

Answer briefly the following questions : (Any Three) 3

(1) Explain the relationship between poverty and the environment.

(2) Explain the step taken by the state government to preserve environment.

(3) Explain an NGO working for Environmental Maintenance.

(4) Explain the relationship between environment and sustainable economic
development.

(5) What is Chipko Movement ?

Explain the lessons of planning in India in detail. 14

OR

Explain the structure of GST and discuss its implications on Indian economy.

Answer briefly the following questions : (Any Three) 3
(1) Explain the full name of NITI aayog.
(2) Explain the concept of Skill India.
(3) Tell us about steps taken by the Government of India regarding clean India
campaign.
(4) What is Demonetization ?
(5) What is Privatization ?
8



